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1 wgbwR`v gxg 96 5 99 5 98.5 5 97 5 100 5 99.5 5 96 5 686 35 A+ 5.00 2 DËxY©

2 Zvqev 98 5 99 5 98 5 98 5 100 5 99 5 97 5 689 35 A+ 5.00 1 DËxY©

3 mvbwR`v 89 4 73 3.5 73 3.5 70 3.5 63 3 97 5 97 5 562 27.5 A- 3.93 21 DËxY©

4 Avqkv 99 5 97 5 98 5 96 5 90 5 99.5 5 99 5 679 35 A+ 5.00 3 DËxY©

5 AvwZKv 80 4 96 5 87 4 87 4 90 5 99.5 5 74 3.5 614 30.5 A 4.36 11 DËxY©

6 bvw`qv 75 3.5 82 4 52 2 59 2 40 1 86 4 91 5 485 21.5 B 3.07 33 DËxY©

7 mvw`Kv 88 4 87 4 89 4 86 4 71 3.5 95 5 89 4 605 28.5 A 4.07 14 DËxY©

8 Lvw`Rv 93 5 96 5 71 3.5 89 4 100 5 99 5 99 5 647 32.5 A 4.64 6 DËxY©

9 ivw`dv 72 3.5 77 3.5 82 4 47 1 55 2 95 5 83 4 511 23 B 3.29 28 DËxY©

10 mvqgv 87 4 97 5 72 3.5 88 4 90 5 98 5 99 5 631 31.5 A 4.50 9 DËxY©

11 ‡mvnvbv 94 5 77 3.5 66 3 69 3 55 2 93 5 90 5 544 26.5 A- 3.79 23 DËxY©

12 gwiqg 64 3 66 3 65 3 30 00 40 1 96 5 76 3.5 F 0.00 we:cv:

13 Zvevmmyg 65 3 73 3.5 64 3 53 2 45 1 82 4 83 4 465 20.5 C 2.93 35 DËxY©

14 Bjgv 63 3 61 3 43 1 13 00 40 1 89 4 60 3 F 0.00 1 wel‡q cixÿv

15 ivqnvbv 45 1 47 1 40 1 40 1 33 00 41 1 65 3 Pass 0.00 we:cv:

16 dvwinv gxg 77 3.5 67 3 55 2 19 00 40 1 90 5 92 5 F 0.00 1 wel‡q cixÿv

17 bvwdmv 51 2 19 00 41 1 4 00 53 2 49 1 75 3.5 F 0.00 AK…ZKvh©

18 gvqgybv Zvbnv 71 3.5 58 2 51 2 40 1 40 1 62 3 90 5 412 17.5 C 2.50 39 DËxY©

19 Avmgv 50 2 26 00 49 1 12 00 18 00 52 2 55 2 F 0.00 AK…ZKvh©

20 gvwngv 45 1 10 00 4 00 3 00 22 00 15 00 54 2 F 0.00 AK…ZKvh©

21 mvBev 56 2 40 1 48 1 10 00 40 1 72 3.5 85 4 F 0.00 1 wel‡q cixÿv

22 Zvqev 61 3 30 00 41 1 17 00 12 00 45 1 44 1 F 0.00 AK…ZKvh©

23 kvwn`v 61 3 42 1 37 00 12 00 7 00 62 3 43 1 F 0.00 AK…ZKvh©

gv`&ivmv `viæj nv`xm mvjvwdBqvn&(gwnjv kvLv)

cuvPiæLx, AvovBnvRvi, bvivqYMÄ|

evwl©K cixÿv t 2021Bs, 1442-43 wnRix Gi djvdj wmU

†kÖwY: 3q kvLv(K)



24 Avwbkv 53 2 40 1 40 1 35 00 35 00 40 1 41 1 Pass 0.00 we:cv:

25 wkdv 43 1 40 1 40 1 22 00 40 1 51 2 40 1 F 0.00 1 wel‡q cixÿv

26 nvweev 54 2 34 00 10 00 22 00 22 00 40 1 54 2 F 0.00 AK…ZKvh©

27 Zvevmmyg-2 91 5 68 3 95 5 84 4 80 4 98 5 93 5 609 31 A 4.43 13 DËxY©

28 ZvwKqv 48 1 40 1 20 00 68 3 42 1 40 1 44 1 F 0.00 1 wel‡q cixÿv

29 mvqgv 56 2 27 00 24 00 13 00 20 00 21 00 42 1 F 0.00 AK…ZKvh©

30 iæKvBqv 78 3.5 56 2 57 2 41 1 52 2 83 4 86 4 453 18.5 C 2.64 36 DËxY©

31 mvqgv 57 2 1 00 1 00 8 00 9 00 5 00 52 2 F 0.00 AK…ZKvh©

32 iægv 62 3 29 00 4 00 2 00 29 00 40 1 67 3 F 0.00 AK…ZKvh©

33 Kzjmyg 78 3.5 60 3 50 2 20 00 40 1 52 2 65 3 F 0.00 1 wel‡q cixÿv

34 dviRvbv 94 5 80 4 73 3.5 57 2 49 1 98 5 85 4 536 24.5 A- 3.50 25 DËxY©

35 Zvmbxg 58 2 50 2 59 2 59 2 60 3 71 3.5 90 5 447 19.5 C 2.79 38 DËxY©

‡gvU cixÿv_©x  67  Rb, A+ = 4 Rb, A= 15 Rb, A- = 7 Rb, B= 8 Rb, C= 5 Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 5 Rb|  ‡gvU DËxY© 44  Rb, AK…ZKvh©  23 Rb| cv‡ki nvi 65.67%

we:`ª: 90-100 ch©šÍ "(A+)Ó 80-89 ch©šÍ Ò(A)Ó, 70-79 ch©šÍ Ò(A-)Ó, 60-69 ch©šÍ Ò(B)Ó, 50-59 ch©šÍ Ò(C)Ó, 40-49 ch©šÍ Ò(D)Ó, 0-39 ch©šÍ Ò(F)Ó|

‡kÖwY wkwÿKv                                                                                                                                                              Aa¨ÿ
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1 dvwinv 91 5 98 5 99.5 5 96.5 5 90 5 98 5 99.5 5 673 35 A+ 5.00 4 DËxY©

2 BmivZ Rvnvb 99 5 97 5 99 5 90.5 5 55 2 98 5 99 5 638 32 A 4.57 8 DËxY©

3 bvw`qv 95 5 92 5 91 5 78.5 3.5 69 3 90 5 98 5 614 31.5 A 4.50 12 DËxY©

4 Aviwe`v 90 5 90 5 92 5 79 3.5 64 3 90 5 96 5 601 31.5 A 4.50 16 DËxY©

5 nvdmv-1 84 4 89 4 74 3.5 80 4 62 3 82 4 66 3 537 25.5 A- 3.64 24 DËxY©

6 Abycw ’̄Z

7 mvwgqv-1 72 3.5 94 5 75 3.5 58.5 2 40 1 69 3 77 3.5 486 21.5 B 3.07 32 DËxY©

8 ûgvqiv 88 4 93 5 77 3.5 85 4 84 4 76 3.5 94 5 597 29 A 4.14 17 DËxY©

9 gvwiqv-1 87 4 95.5 5 94 5 70.5 3.5 40 1 79 3.5 97 5 563 27 A- 3.86 20 DËxY©

10 mvw`qv 89 4 83 4 83 4 62 3 65 3 89 4 83 4 554 26 A- 3.71 22 DËxY©

11 mygvBqv 70 3.5 82 4 80 4 59.5 2 64 3 95 5 78 3.5 529 25 A- 3.57 26 DËxY©

12 RvwKqv-1 89 4 93 5 86 4 77 3.5 70 3.5 87 4 92 5 594 29 A 4.14 18 DËxY©

13 bymivZ 65 3 70 3.5 90 5 55 2 44 1 81 4 87 4 492 22.5 B 3.21 30 DËxY©

14 wiqv 57 2 58 2 94 5 54 2 40 1 80 4 68 3 451 19 C 2.71 37 DËxY©

15 Avdmviv 89 4 83 4 97 5 75 3.5 84 4 96 5 81 4 605 29.5 A 4.21 15 DËxY©

16 RvwKqv-2 62 3 71 3.5 71 3.5 79 3.5 60 3 70 3.5 79 3.5 492 23.5 B 3.36 31 DËxY©

17 mygvBqv 96 5 72 3.5 89 4 30 00 49 1 78 3.5 79 3.5 p 0.00 we:cv:

18 kviwgb 34 00 31 00 12 00 15.5 00 25 00 41 1 24 00 F 0.00 AK…ZKvh©

19 gvwiqv-2 67 3 40 1 53 2 7.5 00 40 1 82 4 68 3 F 0.00 1 wel‡q cixÿv

20 Abycw ’̄Z

21 gvwiqv-3 19 00 40 1 40 1 4.5 00 29 00 40 1 19 00 F 0.00 AK…ZKvh©

22 BddvZ 73 3.5 47 1 58 2 5 00 53 2 65 3 74 3.5 F 0.00 AK…ZKvh©

23 AvBwib 26 00 53 2 54 2 14 00 21 00 40 1 32 00 F 0.00 AK…ZKvh©

gv`&ivmv `viæj nv`xm mvjvwdBqvn&(gwnjv kvLv)

cuvPiæLx, AvovBnvRvi, bvivqYMÄ|

evwl©K cixÿv t 2021Bs, 1442-43 wnRix Gi djvdj wmU

†kÖwY: 3q kvLv(L)



24 Avdmvbv †Rwib 69 3 86 4 80 4 72 3.5 34 00 82 4 50 2 Pass 0.00 we:cv:

25 mvbwR`v myjZvbv 63 3 80 4 85 4 66.5 3 40 1 85 4 78 3.5 498 22.5 B 3.21 29 DËxY©

26 Abycw ’̄Z

27
RvbœvZzj 59 2 44 1 90 5 66.5 3 55 2 83 4 81 4 479 21 B 3.00 34 DËxY©

28 Abycw ’̄Z

29 ivBmv 76 3.5 80 4 54 2 13.5 00 40 1 83 4 99 5 F 0.00 1 wel‡q cixÿv

30 bymivZ Rvnvb-2 55 2 12.5 00 41 1 9.5 00 50 2 32 00 60 3 F 0.00 AK…ZKvh©

31 mvw`qv-3 56 2 69.5 3 40 1 40 1 19 00 66 3 71 3.5 F 0.00 1 wel‡q cixÿv

32 bymvBev D‡¤§ nvweev 86 4 95 5 90 5 84 4 82 4 94 5 98 5 629 32 A 4.57 10 DËxY©

33 RvbœvZzj bvCgv gxg 82 4 94 5 95 5 85 4 99 5 97 5 98 5 650 33 A 4.71 5 DËxY©

34 mvwgqv-2 81 4 83 4 91 5 83 4 60 3 83 4 94 5 575 29 A 4.14 19 DËxY©

35 Awmgv Av³vi myev 78 3.5 66 3 77 3.5 72.5 3.5 40 1 87 4 97 5 518 23.5 B 3.36 27 DËxY©

36 D‡¤§ nvbx 93 5 95 5 98.5 5 93 5 74 3.5 93 5 100 5 647 33.5 A 4.79 7 DËxY©

‡gvU cixÿv_©x  67  Rb, A+ = 4 Rb, A= 15 Rb, A- = 7 Rb, B= 8 Rb, C= 5 Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 5 Rb|  ‡gvU DËxY© 44  Rb, AK…ZKvh©  23 Rb| cv‡ki nvi 65.67%

we:`ª: 90-100 ch©šÍ "(A+)Ó 80-89 ch©šÍ Ò(A)Ó, 70-79 ch©šÍ Ò(A-)Ó, 60-69 ch©šÍ Ò(B)Ó, 50-59 ch©šÍ Ò(C)Ó, 40-49 ch©šÍ Ò(D)Ó, 0-39 ch©šÍ Ò(F)Ó|

‡kÖwY wkwÿKv                                                                                                                                                              Aa¨ÿ


